Section 2-5 Stats.notebook

May 16, 2016
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Learning Targets

« | can calculate conditional probabilities.
« | can construct a two-way table.

« | can find probabilities using a two-way
table.

Sep 16-9:16 PM

Conditional Probability

For any two events A and B, the conditional
probability between them is P(A|B). This is

read: "The probability of event A given that

event B has already occurred."
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Ex. Use the two way

(contingency) table Class ale emal
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Ex. Use the Venn diagram
at the right to find the

following probabilities.
a) P(B)
.6
b) P(A B)
|
c)P(A1B) / /

Here is the data from the sinking of the Titanic:

1st class| 2nd clasg| 3rd class| Crew

Survived 200 117 172 215 o4

Died 119 152 527 703 | TsSq|

219 269 699 9/% [330S Tok/
1. What is the probability of randomly selecting a person on the Titanic who

survived? =264
2202 = 397
2. What is the probability of randomly selecting a person on the Titanic who
was in 3rd class? é ﬁ
3& y/é ‘Qq o
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3. What is the probability of randomly selecting a person on the Titanic who
was in the 3rd class given that they survived?

'>Z/>ok/ = 244).

4. What is the probability of randomly selecting a person on the Titanic who

survived given they are in 3rd class? / 74/6‘77 2’4 @%

Sep 23-10:51 PM

Sep 23-10:54 PM



Section 2-5 Stats.notebook May 16, 2016

Use the Venn Diagram to find the probabilities.
1. P(A)=
A 5 Homework:

2PeM=7 p.50#1,3,4,7-9,11, 14, 16
FEB=5( Y,
4. P(-B) = Y4,

.26 Learning Targets
- 5. P(B|A) = 6. P(~B|A) =
i;o = 24 SE5-F.au L « | can calculate conditional probabilities.
' TRABT 5 _ 8. PeAB) = S6=Y » | can construct a 2-way table.
S 2\ « | can find probabilities using a 2-way

9.12_\AUB) =M 10. PANB) = /27 table.
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1. PAUB) = -y
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